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WS - Trig Functions - RAA & CAST Rule

( \
1. Given COSIL71§ ). , determine an equivalent expression in terms of the related acute angle.
: (177 . . o
2. Given ‘[anlk 15 )l, determine an equivalent expression in terms of the related acute angle.
( 4\

3. Giventan determine an equivalent expression in terms of the related acute angle.

L5 )

) (-5
4. Givencos! 9

\
& )l, determine an equivalent expression in terms of the related acute angle.

)
6)

. ( . . L
5. Given COS|L , determine an equivalent expression in terms of the related acute angle.

. (3r ) . . L
6. Givencos! 3 1, determine an equivalent expression in terms of the related acute angle.

(5)

. T . . L
7. Given s1n|k27t )l, determine an equivalent expression in terms of the related acute angle.

e \ . . .o
8. Given smlkllggt )l, determine an equivalent expression in terms of the related acute angle.

. (—1lx ) . . L
9. Givencosi —-* 1, determine an equivalent expression in terms of the related acute angle.

\12)

. o ) . . L
10. Givensmi 17 1, determine an equivalent expression in terms of the related acute angle.

L 9)

[ x\

11. Given tanLT )l, determine an equivalent expression in terms of the related acute angle.

. T . . L
12. Givensmi I , determine an equivalent expression in terms of the related acute angle.

19

St

. {51\ , , o
13. Given COSILT ). , determine an equivalent expression in terms of the related acute angle.
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. (2 . . L
Given cos o determine an equivalent expression in terms of the related acute angle.

I
LIS )
. (147 ) . . .
Given COSL— ). , determine an equivalent expression in terms of the related acute angle.

9

. ‘1 . . L
Given cos! 7 determine an equivalent expression in terms of the related acute angle.

1/
L 10 )

. (17 . . L
Given sect -l 1, determine an equivalent expression in terms of the related acute angle.

L9 )

: 11z ) . . .

Given COS|L 9 )l, determine an equivalent expression in terms of the related acute angle.
. (107 . . L

Givencsc ILT ). , determine an equivalent expression in terms of the related acute angle.
: (16m . . o

Givensec ILT ). , determine an equivalent expression in terms of the related acute angle.
: (—11x ) . . .

Given tanLT )l, determine an equivalent expression in terms of the related acute angle.
: (17x . . o

Given COSIL? ). , determine an equivalent expression in terms of the related acute angle.
: (8 . . o

Given COtILTS )l, determine an equivalent expression in terms of the related acute angle.

. {3\ , , .
Given coti 3 , determine an equivalent expression in terms of the related acute angle.

L5

( \
Given ‘[anlklllgt )l, determine an equivalent expression in terms of the related acute angle.

. ( ) . . L
Givensec IL117(7; ). , determine an equivalent expression in terms of the related acute angle.

3n

. (3r ) . . L
Givensec ILT ). , determine an equivalent expression in terms of the related acute angle.
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Answer Section

1. ANS:
(T {5\
COSI —~ 1 = —COSI —~ 1
\12) \12)
PTS: 1
2. ANS:
tan( 17n \u = tan(zl\u.
L 15) \15)
PTS: 1
3. ANS:
I RTINS 2
an — | = —tani — 1:
\5) (5)
PTS: 1
4. ANS:
(—5x ) (4 )
COS! I =—COSI —— 1!
L9 ) L 9)

PTS: 1
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10.

11.

12.

13.

14.

ID:

ANS:
(17w ) e T
St I =—=Smi 1.
{9 ) \9)
PTS: 1
ANS:
NG AVNE 2 T
any == 1 =—tany — 1:
(3) (3)
PTS: 1
ANS:
. /771:\ . /271:\ A,‘
S —— 1 =St —(— I
L 9) L 9)
PTS: 1
ANS:
( 5\ () T
COSI =~ 1 =—COS| - I
\4) (4)
PTS: 1
ANS:
(297 (). T
COSIL 15)' COS'LIS)"
PTS: 1



15.

16.

17.

18.

19.

ANS:
cos( l4n \l = cos(4i\|'

L9 ) L 9)
PTS: 1
ANS:

(7Y (3
COSILTO)I COSILTO)I
PTS: 1
ANS:

(—17x ) (7
SECI ——~— 1 = SEC! —~ 1!

L9 ) \9)
PTS: 1
ANS
cos( lln \l = —cosle\l'

L9 ) L 9)
PTS: 1
ANS:

(107 ) ()
cscCl I =—CSCl =~ 1!

L9 ) \9)

PTS: 1
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20.

21.

22.

23.

24.

ANS
(16 ) (2 )
SCC1 1 =SCCI —— 1
L9 ) L 9)
PTS: 1
ANS:
. r_117t\_t ()
" )T e
PTS: 1
ANS:
COS(&\I = —Coslrsl\l‘
(12 ) (12 )
PTS: 1
ANS:
t/g,t\ t/h\
coti —— 1 =—colt — 1
(15) \15)
PTS: 1
ANS
t/3,t\ trzx\
coti —(— 1 =—cott —(— 1
L\ 5) L\ 5)

PTS: 1
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26.

ANS:

ta (H—x\uz—an(ﬂt\
{ 15 ) le

PTS: 1

ANS:

sec(&\l =sec(3—7t\|
{ 10 ) LIO)

PTS: 1

ANS:
{3\ ()

S€CI —— 1 =—Sec| — I
\4) \4)

PTS: 1
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